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Correlation for large bore pipes

Chenoweth and 
martin (1955)



Pressure loss through sudden Enlargement
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Momentum Balance:
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Homogeneous 
Model Assumption Static pressure 

change:
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Pressure loss through sudden Contraction
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Static pressure 
change:



Pressure loss through orifice
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Assumption:
1. The flow is 
incompressible
2.Upstream 
momentum is 
negligible
3. There is no phase 
change
4.Shear forces are 
neglected
5. Void fraction 
remains constant



Pressure loss through nozzles and venturis
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Chisholm 
(1967)

Waston et al 
(1967)


